» SRU-SZ

3 ili=E R} Technical data

BI%E Model 210 020 @30 @50
ERA R Role form wE
i) Turque N.m 15 22 3.2 5.5
o 511 & O] A EE A € intermediate position adjustable angle 10°
fie#% /& £ Rotation angle 180°
#E & % & Buffer means ° AR E 2R
BEFEENREE Allow movement of energy ) 0.007 0.025 0.048 0.081
#8018 Joint caliber M5x0.8P M5x0.8P M5x0.8P M5x0.8P
&/N/EBRARE Min. /max. temperature °C 0~60
BE= Weight Kg 0.73 1.35 173 2.66
BEFEE Allowable load
=k @ | l ®)
Aa | ‘ ‘
8 ] — -
. T[] I
== == =
EROEHN N
AW RIEAE(N) ) $#FE(N.m)
(a) (b)
SRU-SZ SRU-SZ SRU-SZ SRU-SZ
78 74 78 2.4
147 137 137 4.0
196 197 363 5.3
314 296 451 9.7
FTEECSE How to code
(_srusz ) - ( 20 ) —C MMS-30 D
[ [
|m§F§ | Iﬁﬂﬁ@ | HERE
10-1.5 N.m
20-2.2 N.m
30-3.2 N.m
50-5.5 N.m me EE EREARE
Model Description Recom. number of use
MMS-30 gzzgh;:rt;zi‘:nﬁ:tﬁgl)ine non-contact)
MMS-30-SA % ifr?eﬁﬁgrﬁtm-line non-contact) %
MMS.30.PNP AR (RAREY) )

Straight design (two-line non-contact)

9O 3% &t (70 4% 3% B)

MMS-30-PNP-SA 90 degrees design (two-line non-contact)

2

MMS-30-NPN TR (TR0

Straight design (two-line non-contact)

QO &% &t (7 A% 3% Bl)

MMS-30-NPN-SA 90 degrees design (two-line non-contact)

2

l www.ri k-fa.com



O DESRATERE

BEESR:

1. BE2E302UESHM -

2. BEIESO3MUE - FUEREHE-

mAERELE:

1. BIMRAAZERNUEL - EITFELESHBUMRE -
OHREER a bEREREAEWKA - #HEER IEHREPBHUER-
QE2 SERAEERUFAEAENEE -

2. AEREIER
AERERFAHERETHAZEZR - (BEERA2kgf/cridmig 4 )
OREFRBRBREAEMIRAIMLE -

EROLMR - HEFAEERD  JLGRBIERHIREMNMUE -
cERM2tR - HEREE 2 TRFBRERHEENUE -
oHEE  RAETERIEHE -
Q@ EZ EROL 2REMHEE  AEPEUE -

o iFRERRCc dNEERIEFRE -

o AEBEBRC dMWUE - MHABPEUENAE -

o RIBRL - BR1~3MIEFZEERILEE

O Bl AEERUEBEZRE ( B2 EEgEHE
HEIRRa
EROL
¥ I
| g
D)
&
[ | =
+ s
\ ERO2
0 K1 vEAUEREAE
R : {ERANI B NE K #t 75 [0 E 2 I L : RN B S £t 75 @R
EROL - 2ABHE - THERRRC - dENBSE- RO 2ARHE - DHEEERC - JRBIBEIE-
ATFEAEREERHSAENNE CHESERIANEE . | AFEAEBESHHAAERBIE  EHERRRENEE -
ARNEEREEERIEEBNAEE BEEREGERER] | BEAEERANERENSNARE - HETEBGEEERC
WE - -

o EIEBIEHER BHARERATR SHARBERLIMUE  FAUEARFAEERBLHEE -
o BIEMER  FELHEBEOUBRHK  FHRHEE -

www.ri k-fa.com l



4h 88 R~ Bl Dimensions

L ]
. & o
BK 0
&
3 & -
/\AHWI ™
. . 2% 2
dpg mv”cw € m # m“mN g
an "
W ©
~
[}
B& ]
&
]
wn
=
=
al  w
] & 8
Y
-]
] 8 ] - m ©
a8 ° = 1 &
i L
o -
L'e
— 0
_ BV N
ﬂ % hiunliliunid g [
Lo ov 5z
wn
W z L €l e
7)) v

@| wn
wn| o
o ©
%
3 a)
: &G
Eis ol
[ o |
//Iﬂwnwr o~ M ﬁ* ﬂ
, , =4E
- i o L08 W
dPSPX g0 h
o
& & g .
T, g @
M.q - =5
— 8|2
N\ i I
3 P @ 8
of + j s
O~ 28 & = S
o 7 @ N 4 H
< ekl . ,
B A /T
o ,f.ﬁl\\& L) |
o Avi &2 Av e || 4
R Hl e[ *] o
N 3 S e
MARE- v 59
) Il g
m "

www.rgk-fa.com




YRR ~F B Dimensions
[ SRU-SZ-30 h

8-M6x1.0P

2-M10x1.5P g 15

b 5 F / B
- e Lo .
& N i Y
B i i
2%
# #7 N 2 28
148 \ 286 7L,
84 014585
267 .
o65
@32
8 2-M5x0.8P
° 31 = EHET

[
:

17

57

BT
o
e
59

222 69 64
184 MAX=37 70
\_ J
/ A
SRU-SZ-50
8-M8x1.25P
Y
202 2-M12x1.75P iR18
_Eﬁ ARy 22 : E}B B / —E—@}B
/ D 5 Y
RCiNa s R $2(H)—0
A\ A / % ——
o \BUT S ' 2
H d 2 4
@55 © 2 ECO
100 @10.5 &7,
@17 i£10.5
@77
@75
@35

10 2-M5x0.8P
EHELL

| ) ]

147 = : e

R .
155 @10 (E58)
226 74

152 80
214.5 MAX=48

\ J

www.ri k-fa.com l

+

T
éé
:

20

46
40

|
3
:(D
14.5
N




